
Spiel 1 Spiel 2 Gesamt

Spiel 55 17:40 S 1 STOLZ Raphael 47 + 54 = 101 #

S 2 ZIERVOGL Josef 66 + 48 = 114 # #

Spiel 56 17:56 T 1 KÖCK Ernst 47 + 50 = 97

T 2 JURKOWITSCH Marcel 62 + 49 = 111 # O

Spiel 57 17:49 S 2 ZIERVOGL Josef 48 + 62 = 110 #

S 3 SEYER Kornelia 57 + 51 = 108 #

Spiel 58 18:06 T 2 JURKOWITSCH Marcel 41 + 56 = 97

T 3 HAHN Ernst 58 + 51 = 109 O #

Spiel 59 18:18 S 3 SEYER Kornelia 49 + 58 = 107 #

S 1 STOLZ Raphael 43 + 51 = 94

Spiel 60 18:25 T 3 HAHN Ernst 59 + 39 = 98 # O #

T 1 KÖCK Ernst 51 + 47 = 98

Spiel 61 18:38 U 1 SEIBERT Günter 56 + 52 = 108 # #

U 2 HARUCKSTEINER Thomas 53 + 48 = 101

Spiel 62 18:47 V 1 STOLZ Martin 50 + 58 = 108 # O O

V 2 OFENBERGER Leo 52 + 59 = 111 # #

Spiel 63 18:57 U 2 HARUCKSTEINER Thomas 62 + 55 = 117

U 3 FRÖSCHL Max 61 + 53 = 114 # # #

Spiel 64 19:30 V 2 OFENBERGER Leo 58 + 52 = 110 O O #

V 3 ROSINGER Rene 50 + 53 = 103 # O # O

Spiel 65 19:22 U 3 FRÖSCHL Max 56 + 49 = 105 # O

U 1 SEIBERT Günter 51 + 61 = 112 O O

Spiel 66 19:15 V 3 ROSINGER Rene 52 + 53 = 105 # # #

V 1 STOLZ Martin 55 + 54 = 109 # # O

Spiel 67 19:39 T 2 JURKOWITSCH Marcel 55 + 55 = 110 O O

U 2 HARUCKSTEINER Thomas 50 + 53 = 103 # #

Spiel 68 19:51 S 1 ZIERVOGL Josef 55 + 64 = 119 # #

V 2 STOLZ Martin 55 + 54 = 109


